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=4 X012 9,693,978 6,018,446 3,675,532
=2 149,750
< 147,460
Al 9,396,768
SSRJIN= 7,144,776 3,939,471 3,205,305
= 149,750
< 147,460
Al 6,847,566
SEXNEIIEtEH 987,410 929,844 57,566
N2 dFPRFA 959,810 893,664 66, 146
101 @124l 83,216 6,680 76,536
4 JI2ZtHZ22 s+ 83,216 6,680 76,536
OFARK 2| A2 (SAIZH)
68,720& = 2 * 3 * 103l 4,124
OEM2H(EA) 522 22X 79,092
ool 74,400 * 3H » 262 « 123 69,639
OFEFItHI 200,000& = 23] » 3H 1,200
O=XNEUE 300,000&  3H 900
C42Eg= 7,353
-HLYEERE 69,639,000& * 3.23% 2,250
“HIIRISEE S 2,250,000& * 8.51% 192
-=20AHZ 69,639,000& * 4.5% 3,134
-IEEE 69,639,000& = 1.5% 1,045
M EE 69,639,000& * 1.05% 732
201 Yet2 | 672,594 808,334 £ 135,740
01 At 22/l 170,511 174,216 N 3,705
OsEXNEANEE SEMH
4003 * 2& * 5,00000 = 95% 3,800
odidl g ===
20,0003 = 6CH = 12& = 95% 1,368
OF=)| dE =2
40,0003 = 5CH = 128 = 95% 2,280
OBMEY Az 82E2Y
50,000& = 105 * 128 * 95% 5,700
O M=l 2,679
Og2X
11,0008 » 58 » 204 + 128 » 95% 1,254
ONdEZEA 100,000& *» 15& * 95% 1,425
020198 =EXNE M AIEEDN S0
20,0003 = 2005 = 95% 3,800
020208 sEXNTZAMY JI=AHE g 7
8,000& = 2005 = 95% 1,520
Osgll=dlH 2248 R
4,000& * 2,0008 = 95% 7,600
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Osgllsdy d2R=2 24,089
Os¢X 15,000& = 28 + 128 = 95% 342
ONYR (24, 4L, SIHNAR2L)
13,000& = 3100 » 128 * 95% 4,595
Osgdss FEX
7,000& x 38 * 80 * 12& » 95% 19,152
OFAL HIlotE 2| SAH| (22, =42 i
a) 1,600,000& * 122 » 95% 18,240
OsIANEEBelIA HIAHBE B
120,000& = 704 = 128 * 95% 9,576
OBAM AAL SXZ2 SAH (22, 542,
b 2 A1) 250,000 * 3 A « 1228 * 95% 8,550
OSYINHEEB2IA 2YAE SN2 B
u]l 150,000& = 7IH 4 = 128 * 95% 11,970
OdeHOIH RXZe SdH(2a, 5822
2&) 230,000& * 3 A « 1228 * 95% 7,866
OFAL gAze 2824
150,000& * 4004 * 128 * 95% 6,840
ORI B AL (22 L S4B
500,000& * 122 = 95% 5,700
ORI ZH EYH(SIHLUEZAIA)
250,000 * 8 A 122 * 95% 22,800
O3B AIEE FICHAHEH EY
6,500,000& * 23] * 95% 12,350
oY E CCTV SA&2 S99l
13,000& = 93CH » 128 * 95% 13,783
02 3323l 502,083 634,118 A 132,035
OFIILB(1Y) 205,038
o2 2 =4 2(900kw) 173,629
-JERS 8,320& = 650kw » 128 64,896
L ST 109& * 83,12%w * 12& 108,733
OsgdIlHSe2el A (M 222kw, 604 ) 25,706
-JEea 6,160& = 230kw » 12 17,002
= = 106@ * 6,842kw » 123 8,704
O=gIHSE el (0 A35kw, 1IHA) 5,703
23 8,230& = 3bkw » 12& 3,457
-ZRS 1123 = 1,671kw » 128 2,246
oRER= 4,790
OBt 350& = 10,0000H 3,500
OS2l 2,150& » 600 1,290
osdz 3,744
ogetsaz (s, 2ANUHAMI S)
35,000& = 12& 420
Ogetds AAEZ= 60,0003 = 2CH » 12& 1,440
OOtgE] 2¢& 4z
12,000 » 11004 « 123 1,584
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OfIdegs =8z 25,000& = 12& 300
OFSE Ha 2HE(SIHLUHEZAE)
60,000& * 84 * 13 480
OFEM M==(2d3) &
400,000& * 204 * 23 1,600
OAgotdE 3| 48,0003 * 3M A » 13 144
Oddots+E Rz (2, s, sH2I3H)
2,200,000& = 123 26,400
Odst+E B (sLIAHSS 2L 442L)
99,000& = 123 1,188
OZelHIOIH ¢d B2
150,000& * 30H 4 450
OFEAMAIE Sl 29,046
O1540l5t HDAIE(S2) 1,651& * 534 882
O10H0l6t HAIAI A (22 =L A)
2,401& « 4,019m 9,650
O10E 0I5t #OANE(L2E , S8 M8, 45
22x10) 1,262& = 13,709m 17,301
O540lot HAIANA (LEHOIME)
1,287&  296m 381
O540lct AL (S22, 82,89 =901
EsaeiL) 6713 « 1,239m’ 832
Osgllsdy 29 eyl 16,123
OsgllAsSe2el A
916& = 44 = 5AI2t » 614 » 110 12,092
OsH=goaga
916& * 44 = 5AI2t » 20HA » 110 4,031
OXI|I &l & (22 DM 9IHA)
10,000, 000& 10,000
OJIAH&Hl =4 (365, 109CH) 18,000, 000& 18,000
OdHYAIE =& (275 84U1) 12,000, 000& 12,000
ogd g CCTV ==« (3tollct76tl, =3tI11701)
8,000,000& 8,000
OusE &Y & HAAE NAHEFHI
5,000,000& 5,000
OXNSXUHHMAMBUS(MZ, BEEZ) 22,400
OsExt 800,000& =« 10CH 8,000
Os&Ext 800,000& =« 3CH 2,400
Ost= Xt 800,000& = 1504 12,000
OX =Xt 133,000
OsEX 4,900,000& = 10CH 49,000
Osgxt 6,500,000& « 3CH 19,500
Ost= &t 4,300,000& = 1504 64,500
CuLsSRY RE3 500,000& * 23| 1,000
OXSxEA=E 60,000 * 28CH 1,680
OdHEEHI =R Al 2,000,000& 2,000
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SAH-EB .S (3H) - HEAY - BE2 0 AF o il HD=2
206 M = Hl 3,000 3,000 0
01 & bl 3,000 3,000 0

OFEJ|& JIRI| M= 100,000& * 303 3,000
401 Al HI L £ 0HHI 142,000 18,400 123,600
01 A& HI 142,000 18,400 123,600
Osda2 sJIH XNot&ELD SI17 WS A
21,000,000 21,000
O=sgllsde SN SHSA
6,000,000& 6,000
Os=sgllsdE 1D SFSA 115,000,000 115,000
405 XtabF SHI 59,000 57,250 1,750
01 A&t =S F SHI 59,000 57,250 1,750
ogREX 43,000,000& = 1CH 43,000
OHIULEZHH (sl nEZ)
16,000,000& = 1CH 16,000

SgolaEAs 2H 27,600 36, 180 A 8,580
201 Bt A | 2,280 2,400 A 120
01 AFR2 2t 2l Yl 2,280 2,400 A 120

osgoaEL Y
100,000 = 20 = 128 * 95% 2,280
301 dEtE2XZ 6,400 6,400 0
09 HALAHIXI &= 6,400 6,400 0
OsgYAAMHARH ZAEA
8,000& * 200¥ * 4 SHS 6,400
405 X+HoHF SHI 18,920 27,380 A 8,460
01 A&t =S F SHI 18,920 27,380 A 8,460
Osd oA A 5,100
O I| A (99m = 1t)
3,000,000& * 1CH 3,000
OAI(328) 800,000& = 2JH 1,600
oAm(128) 500,000& = 1JH 500
O sgolacas 3,820
OAI(32E) 800,000& = 2JH 1,600
O4Ad(20E) 650,000& * 24 1,300
oAm(128) 500,000& = 1JH 500
O (3oE) 420,000& = 1JH 420
02Es =oAL 3,540
OAI(32E) 800,000& * 2JH 1,600
O (o) 420,000& * 104 420
Oyl & (4221 XI) 1,000,000& = 1JH 1,000
OLE& 520,000& * 1N E 520
OZU =golarsEa 4,020
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Omtel& 520,0008 ~ 1NIE 520
O& L Z(L2,700 x W420 x H2,400)
3,500,000 = 1M E 3,500
O0Z2E YoM 420
Oglos Xt 420,000& * 104 420
OXN oA A 2,020
OA4IH32E) 800,000 = 24 1,600
O3 o sE Xt 420,000& = 1JH 420
NEJEHMHA2UG 135,744 28,500 107,244
NEIN& HHHREXN 135,744 28,500 107,244
101 21 214| 99,769 0 99,769
04 JIZtHI22XNSE S 99,769 0 99,769
Os=sgolMEA HEMHE 299 99,769
[@)eiral:! 68,720 « 5% x 262 x 10€ 89,336
OY & 50ty| 200,000& = 5% * 13| 1,000
o4 = 9,433
-AAdEBE = 89,336,000 * 3.23% 2,886
- QYEEE 2,886,000 * 8.51% 246
-=01H= 89,336,000 * 4.5% 4,021
-89 8 89,336,000 * 1.5% 1,341
-MHEE 89,336,000& * 1.05% 939
201 242 Y| 28,975 21,500 7,475
01 AP 2t 2] H| 28,975 21,500 7,475
OsZXNTAY EEE sAS
15,000 * 50000 * 95% 7,125
Osgllsdy E8 sd4& M
9,000,000& = 95% 8,550
O=sENETHI208 AHUG AENR
14,000,000 * 18] * 95% 13,300
203 € R F&d| 7,000 7,000 0
03 AIEH =X 2 F XY 7,000 7,000 0
O=sglls N2 5,000,000& 5,000
OX&EIN&E R4 2,000,000 2,000
Ol 21 I 2 2 3 21 2 5t 636,293 484,440 151,853
=MI)=DR 75,977 77,870 A 1,893
201 Yet2 2t 35,977 37,870 A 1,893
01 AP 22| H| 35,977 37,870 A 1,893
OFS=LO JzuR(SMIzWE) 22 A
2aE 2 200,000& * 5= x 95% 950
OFES=LO JzuE(SMIzWE) 2AxE
EEFEY 8,379
[OPIE= 120,000 = 219 x 1Al2F * 95% 2,394
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O=J} 100,000 = 21" = 3Al2F * 95% 5,985
OFES=sLQ JzuR(SMIcsWSE) WHHE
6,000€ * 4,0008 * 95% 22,800
OFS=R JENS(SMI|EDS) B4
M & 70,000 * 1500 = 95% 998
OFES=sLR JzuR(SMI)Iz=l]) Itz o
= 500,000® * 6CH * 95% 2,850
206 M = dl 8,000 8,000 0
01 X2 4| 8,000 8,000 0
OFES=sLR JzuR(SMIIzUR) s 2
el 20,000 = 40¥ * 103 8,000
301 et A= 32,000 32,000 0
09 HAIAHIXIE 2 32,000 32,000 0
OFES=sLQ JzuR(sSMIzsUR) SAEH
8,000& * 4,000 32,000
SO =SS 58,955 59,300 N 345
201 LBt 9H| 6,555 6,900 A 345
01 AP 22| H| 6,555 6,900 A\ 345
Os=sgosESHHY E5 L A S0 M
70,000 *« 1090 * 95% 665
O=sgOISHSCH HAMAXE M2
200,000¥ * 48 * 63| * 95% 4,560
OsgossHy g A28 2
200,000& * 7= * 95% 1,330
301 et A= 52,400 52,400 0
06 212to1 =22 (4 4] 51,200 51,200 0
OsgoSESHHY 243 ldH5,
2,000,000& * 162 = 2JHSA = 80/10 51,200
09 SHAIAHI X & 2 1,200 1,200 0
O=sYolstESCH WY & A &I
200,000 = 6H 1,200
SHOIo & sHAL Il F 48,500 0 48,500
307 2Iz2t0| & 48,500 0 48,500
04 SIZ2HSHAAISH E & 48,500 0 48,500
O=gloy AL 50,000,000& = 13 = 97% 48,500
SoHOICEos HdXNE 10,123 10,250 N 127
201 LBt 9| 2,423 2,550 N127
01 AP 22| d| 2,423 2,550 N127
OO HANSE S (HY)
100,000& = 204 * 95% 190
O=soHUHEos HIANE LAI2(13) 333
[OPIE= 230,000 % 1Al2F * 95% 219
O=J} 120,000€ = 1Al2F * 95% 114
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OsgolICHEos d&NE HAYXE
500,000& = 4CH * 95% 1,900
301 et A= 7,700 7,700 0
09 HAIAHI X & 2 7,700 7,700 0
O=sgoICtHEols Aty EFABA
77,0008 * 100¥ 7,700
SsEXNEX SEHEXE 153,130 125,270 27,860
201 et 9| 16,730 17,670 AN 940
01 AFR 2t 2| H| 16,730 17,670 AN 940
OSHSsE=NT A A&X As HALXE
500,000& = 30CH * 95% 14,250
OSEXNER 2 2HADS B4
70,000& * 290 * 95% 133
OSZXNER UV AHNLST ZAZ(12) 447
OJ= 230,000& = 1AI2F * 95% 219
OFJt 120,000& = 2A|2F *= 95% 228
O=ZXNGH U2 2HADE HALXR
500,000& = 4CH * 95% 1,900
206 M = Hl 10,000 0 10,000
01 X2 H| 10,000 0 10,000
OsZEXNE=XE SSEAY HE Mes 2
40,000 * 250 10,000
301 et A= 17,600 17,600 0
09 HAIAHI X & 2 17,600 17,600 0
OsZ=XNT A 22 elda PSS
100,000 * 80 8,000
OSHsSs=XNT XA A&X As AT 24
8,000& * 40¥ * 303/ 9,600
307 2Iz2t0| & 38,800 20,000 18,800
02 QIZFEAAIRE E X 38,800 20,000 18,800
Os=XNT A =0Ha &It
20,000,000& = 13 * 97% 19,400
SsEXNT=A 8=2U3 It
20,000,000& = 13 * 97% 19,400
402 BI2H X 20| M 70,000 70,000 0
01 It EANSEXR (MM H) 70,000 70,000 0
OsEXNEX Wstds AFI=E ANEsE 29
20,000,000 = 3244 = 70/100 42,000
ORe=sE=XNET X3 S 45 AlY
20,000,000& = 2J04 = 70/100 28,000
SEXNZX stotS U 19,400 20,000 A 600
307 QI2t0| & 19,400 20,000 A 600
04 CIZ2HSHALALS B X 19,400 20,000 A 600




2N
D SN

el

X ZH
S =

sol=dg X212

Ol M2 5t

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Os=sZ=XNT A StotsS sl HE
20,000,000 * 97% 19,400
IHEH X E 110,160 66,000 44 160
201 gBt24y| 950 1,000 AB0
01 AP 2t 2| H| 950 1,000 B0
O4-H2E T s HAYX=
500,000 = 1CH » 2& x 95% 950
206 M = Hl 1,600 1,600 0]
01 W2l 1,600 1,600 0
O4-HEE 1T s M=l
40,000 * 40H 1,600
301 et M= 9,900 9,900 0
09 HAIAHI X & 2 9,900 9,900 0
O4-HES XT3 YRS &
100,0002 * 40% 4,000
O&=Z4-HIIE Stotsta A
100,000 * 259 2,500
OXY4-HNE L HAEI oY
60,0008 » 30H 1,800
O4-H &5 =4 8,000 * 200 1,600
307 2iz2tol & 41,710 43,000 A 1,290
02 QIZ2IA AAIE E X 41,710 43,000 A 1,290
O4-HESE XHZ2AHX & Y a2 28
13,000,000 * 13| * 97% 12,610
Osn4-H HHEs NE
30,000,000& * 13 * 97% 29,100
402 QI2H X201 M 56,000 10,500 45,500
01 SIZEXIEANYEX (MM HA) 56,000 10,500 45,500
O%=s4-H J=9=s X
20,000,000 = 4242 = 70/100 56,000
4-H3| HAEOIE SHA} 9,700 0 9,700
307 212t0| & 9,700 0 9,700
04 SIZ2SHAAISH E X 9,700 0 9,700
O4-H3 F3AEHO & Al
10,000,000& * 13| * 97% 9,700
4-Hg| sE=EAMNE XA OI9 WS 29,100 30,000 A 900
307 QI2t0| ™ 29,100 30,000 A 900
04 CIZ2tSHALALS B X 29,100 30,000 A 900
O4-Hal sZ=EAE KA Y NE
30,000,000 = 18 = 97% 29,100
4H s&SY IHUs 6,548 6,750 N 202
307 QI2t0| & 6,548 6,750 N 202
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04 DI2HHALALSE E X 6,548 6,750 A 202
O4-Hal s& e HHNF
1,350,000& * 53| * 97% 6,548
AHE=R BOIS O3 9,700 10,000 A300
307 glz2tol & 9,700 10,000 A 300
04 DIZHHALALSE E X 9,700 10,000 A 300
O4-H=EF &tits Ul
10,000,000& * 13| * 97% 9,700
2 =72 =4 105,000 70,000 35,000
402 RI2HXt20l 105,000 70,000 35,000
01 212t 2 A E = (REMTH ) 105,000 70,000 35,000
oF2=Y XEIIE = 23 MIMY
50,000,000 * 3JH2 = 70/100 105,000
sENEZYH LS 298,346 326,127 N27,781
SEA L 252,271 298,127 A 45,856
101 14l 11,855 3,101 8,754
04 JI2ZtHZ22HEE = 11,855 3,101 8,754
OsEXNJZ0F JIZHZ2X 12
68,720& * 1H * 262 * 63 10,721
(OFNR=PNES=4=) 1,134
OHLEE= 10,721,000& * 3.23% 347
OIIRAEE= 347,000& = 8.51% 30
O=gd3 10,721,000& * 4.5% 483
OCnE:LE 10,721,000& = 1.5% 161
Ot THES 10,721,000& * 1.05% 113
201 ¢er24| 72,580 80,400 AT,820
01 At 2t 2l 72,580 80,400 NT,820
OMEINEATRZ 2F LAY 22,230
O1=s 1,330
= 230,000& = 4% = 95% 874
-=J} 120,000& * 4H = 95% 456
023 20,900
-Jl2 120,000& = 100 * 95% 11,400
==t 100,000& = 100 * 95% 9,500
OSHsMENds Hd&X A xE JXt
500,000& = 28JH&l * 95% 13,300
OdEINHs THe YL s e X
500,000& = 2CH = 95% 950
OMEINLES LA/ AWK AW FH|
15,000,000& * 95% 14,250
O=sZEXNIAZ0F AATHAMA HEXA(NEEH
g5) 00,000& = 424 = 95% 1,900
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OXSAZSASE2S N ASUSH|
20,000,000& * 95% 19,000
OMEINHS HA L DR ARE 79
100,000& = 103l = 95% 950
206 M= Hl 46,370 49,610 A 3,240
01 =8l 46,370 49,610 A 3,240
o#=M2Y I L FIE 7Y
50,000& * 108 500
OMEINLAHTS WE M
10,0003 = 489H =« 83| 39,120
OM=SE 22l JIZns M2
15,000& = 153] = 309H 6,750
301 LEd = 22,416 22,416 0
09 HALAHIX A S 22,416 22,416 0
OSHESMENHS /ARS LXK As HAIX
=4 8,000&  1,008%H 8,064
OMEINLAHATS e FAX 4
8,000& = 467H = 23| 7,472
OMEIfHS HIIES FAX =4
8,000& = 100 = 23| 1,600
OMENME THT HMAHDT FAX SA
8,000& = 80YH = 23l 1,280
OTChe MEIHHs LJANE A 0l
100,000& * 40H 4,000
307 21201 A 63,050 65,000 21,950
02 IS AHE L 63,050 65,000 A 1,950
OMEINH Jl&H K
25,000,000& * 1903 » 97% 24,250
OS+=MEIHLs 29 243 AlY
20,000,000& * 2903 » 97% 38,800
402 RI2FXt20l 35,000 70,000 235,000
01 212t 2 AL E = (REM ) 35,000 70,000 235,000
OsSEHLEEH &Il =&Y HHl2s AY
30,000,000& = 1JH2A = 70/100 21,000
O=sZEXE LASAY EE2 AY
20,000,000& = 1JH2A = 70/100 14,000
405 THabF S| 1,000 7,600 A 6,600
01 AL EFH S 1,000 7,600 6,600
otteldl(n=sg) 100,000& * 10CH 1,000
MEHME &, S &its el 11,640 6,000 5,640
307 gl2tol & 11,640 6,000 5,640
02 IZtE M AHE L 11,640 6,000 5,640
OMEIfLs =2 2 T S0tSU Fot
12,000,000& * 13| * 97% 11,640
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HFA 22X HAEYE & HAAYSI 13,095 0 13,095
307 2Iz2t0| A 13,095 0 13,095
04 SIZ2ISHAAISH E & 13,095 0 13,095
OFFAl 24X HAEY
13,500,000 * 13| * 97% 13,095
MEDNA G BSOS S 21,340 22,000 A 660
307 212t0| & 21,340 22,000 A 660
04 SIZ2ISHAAISHE E X 21,340 22,000 A 660
OMEIAS OIS O3
22,000,000& = 13 = 97% 21,340
S HIMA2SG 4,349,283 1,380,000 2,969,283
SYI|H L0 ¥ st 4,219,283 1,380,000 2,839,283
101 2121 d| 224,643 275,239 A 50,596
04 JI2tHIZ22NEE S 224,643 275,239 50,596
OUUAYA H2RHA A (DHAIM)
76,760 « 10¥ * 262 » 10€& 199,576
OY&E 5 Iyl 200,000& = 10¥ = 23| 4,000
OANSREE 2 21,067
OAndEE = 199,576,000& * 3.23% 6,447
O&IIYEE = 6,447,000 * 8.51% 549
O=01H= 199,576,000 * 4.5% 8,981
onagd 199,576,000 = 1.50% 2,994
ONMTHEE 199,576,000 = 1.05% 2,096
201 et Y| 546,922 565,975 A 19,053
01 AP 2t 2] H| 161,975 180, 100 N 18,125
OLU=LYINH Moz FEHAE
100,000& * 11 x 23] = 95% 2,090
OLU=LYINIH &L LUHAEA SHH|
100,000 = 9IH A = 128 * 95% 10,260
OLU=LYIIH 2H=E 2= HE
2,000 « 1,0008 * 95% 1,900
OUUNSAI|H UHEH 2t A2 (HE
=) 150,000 * 6003 * 95% 85,500
OUUNSAIH SIS AXNZB(AEHIIS)
100,0002 = 5003| * 95% 47,500
OMSTHaHME A EE L s SHH|
300,000 * 9 A * 95% 2,565
OsgIAH =22 I =H| 6,460
oxg= 90,000& = 20 * 23] * 95% 3,420
OCerA 3t 60,0003 * 20 * 13| * 95% 1,140
ogst= 100,000& = 20 * 13| * 95% 1,900
O=YIIH 24l & =322 237 YA
o) 5,700
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OA2HU2 308 10,000& * 600& * 95% 5,700
3234 384,947 385,875 N 928
OYU=LINH SANESH(HEIIS)
1,000,000& * 150CH 160,000
OYU=LINH SANESH(LEIS)
100,000& * 500CH 50,000
OoUU=INAH B3AML & SEL HII=S H
cl i 100,000& * 80& 8,000
OYU=sYIAH 2208 KA 2cldl
602,500 * 123 7,230
OUU=sINH Hl&dE HZHI 6,579
O gs= 1,377& = 2,0004 2,754
odgr 1,275& * 3,0004 3,825
OLU=LINIH A6tHE XNAX HEH(ER)
1,275% = 500¢ = 904 5,738
OLU=YINH 2EE S84
70,0003 * 20 1,400
OLUsLINAH L =2lUZ HE =5 (IHE
Jlxt) 500,000& * 12& 6,000
OUMSIIH S EE R (NN ST WD 0] 4
) 200,000& * 750CH 150,000
206 M= 4l 165,000 305,000 A 150,000
01 M= 4l 165,000 305,000 A 150,000
OsZIIAH SUHEH =2 155,000
=28 23 50,000&  3,000& 160,000
O2ZM= 10,000& * 500& 5,000
307 21201 & 40,000 0 40,000
05 Rzt S = 40,000 0 40,000
OsgEs8=24D| HAHS N
200,000& » 200€ 40,000
401 A& HIZ 201 bI 1,458,068 50,500 1,407,568
01 A& HI 1,434,711 50,500 1,384,211
OsJIH s nsd &4
26,400,000& = 10024 26,400
OLCHAIH &~ 2bEF Rl 2,750,000& » 8IH & 22,000
OLUHAIH A SIIAHCIZE MEALEX
39,600, 000& 39,600
OLUAILA 2 ZE X ESSAM
15,000, 000& 15,000
OUUAS A HIJHEAIAE &X 34,680,000& 34,680
OYUAIS & BN ZA 10,820,000& 10,820
OLUAIH A HIEE =B AL 10,000, 000& 10,000
OZN seIHSE 2L HAS 1,276,211
OB AtHI 1,850,000& * 668m 1,235,800




D sYllsde XEIE
D sSNAINE

P EYIAB YT

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O& Al 1,235,800,000& * 3.27% 40,411
02 2teldl 18,908 0 18,908
OZN seIHSE 2 WA=
1,235,800,000& * 1.53% 18,908
03 Al =2 THHI 4,449 0 4,449
OZN seIAHSE 2L HAS
1,235,800,000& * 0.36% 4,449
405 TtabF S| 1,794,650 183,286 1,611,364
01 AL EFFH S 1,794,650 183,286 1,611,364
ogUtsE =dJIAH Al < 1,794,650
O8 3 =ZEtel 6,500,000 = 13CH 84,500
OlbtsmwsJ| 4,800,000& = 3CH 14,400
OXt=AElHI & D] 21,500,000& * 8CH 172,000
O2Htel(4x) 56,800,000& * 1004 568,000
OEeH 34,860,000& * 6CH 209,160
O IIEHIAH DI 8,500,000& = 404 34,000
o327 4,500,000& = 10CH 45,000
O=s8x47| 4,100,000& * 10CH 41,000
OE=7I 1,615,000& * 30CH 48,450
OX=AZSESDI 12,500,000& * 4CH 50,000
OSME=DI 3,100,000& * 16CH 49,600
OZEHHI0IH 5,850,000& = 20CH 117,000
Os=E0l#2I 9,850,000& =« 6CH 59,100
On70t===D| 1,100,000& * 10CH 11,000
O3+ 9,960,000& = 8CH 79,680
OA& &I 5,000,000& =« 5CH 25,000
ORuFSE-"FS P 3,100,000 = 10CH 31,000
Os&2eldl 12,540,000& * 2CH 25,080
Ozteld| 2,400,000& * 20CH 48,000
OO0l Z | 1,640,000& * 120K 19,680
o= 63,000,000& = 1CH 63,000
sZIIAH &al==cl 130,000 0 130,000
206 T 2 bl 130,000 0 130,000
01 =8l 130,000 0 130,000
OsgIlH =3l+=c 23 ¥ 120,000
OZ2II832 6005 50,000& = 2,400& 120,000
OsZIH =3 2EMHE 7
20,000& = 500& 10,000
SEXE AT =L 299,500 351,280 A51,780
149,750
149,750
sl M2Us NE(HY) 52,000 51,000 1,000




N s8II=
FM: sHXAI=
Cel SEXES A S (cHel ® Q)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
= 26,000
Al 26,000
101 1Al 15,804 15,342 462
= 7,902
Al 7,902
04 JI1ZtHNZ22 s+ 15,804 15,342 462
OXEsUlzus 2F U2
68,720& * 1H * 262 * 8 14,294
= 7,147
Al 7,147
OJIZtH 22X B (ALNHRLS) 1,510
OHLESEE 14,293,760& * 3.23% 462
= 231
Al 231
OFIIAEE= 441,688& = 8.51% 38
= 19
Al 19
O=8d=z 14,293,760& = 4.5% 644
= 322
Al 322
O1nEEE 14,293,760& * 1.5% 215
= 107
Al 108
Ot THES 14,293,760& * 1.05% 151
- 76
Al 75
201 Yet2 | 25,156 24,618 538
=2 12,578
Al 12,578
01 AF22t2l ] 25,156 24,618 538
OX2=IzLs AAME(13) 1,180
oJla 230,000 = 2H = 1A|2 460
= 230
Al 230
OZFJt 120,000& » 2 = 3Al2t 720
= 360
Al 360
OXEsYIszws AAMSE(23) 1,260
OJle 120,000& = 3Y = 1Al2t 360
= 180
Al 180
OZFt 100,000& * 3H » 3Al2t 900
= 450
Al 450
OXHEsYIz=uws UM7Y
10,000& = 400% 4,000
= 2,000
Al 2,000




N s8II=
=R ESD EIE
el SEXES A (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXEsYIzuE 2 M
70,000& = 20H 140
= 70
Al 70
OXEsYINzWE MESS 72 416,000 416
= 208
Al 208
OJIz=gsllsus M2 (13) 6,490
oJle 230,000& » 11 = 1AI2t 2,530
= 1,265
Al 1,265
OZFJt 120,000& = 11 * 3AI2 3,960
= 1,980
Al 1,980
OJIxzd=sll2us 7Y
10,000& * 980% 9,800
= 4,900
Al 4,900
OINEYSIEDS H4+2 KX
70,0002 * 2000 1,400
- 700
Al 700
OJIx=ZsINzwE MRESES 72  470,000& 470
= 235
Al 235
301 LA S 11,040 11,040 0
= 5,520
Al 5,520
09 HALAHIXI &3 11,040 11,040 0
OXE=dlzsLs 244 8,0008 * 400Y 3,200
= 1,600
Al 1,600
OJIxgdsllzsus SA24 8,0008 * 980 7,840
= 3,920
Al 3,920
NEZPR HSSAFANA(NE) 55,200 35,980 19,220
= 27,600
Al 27,600
201 L2l 11,700 12,200 A 500
= 5,850
Al 5,850
01 At 22l 11,700 12,200 A 500
OJ=ES4R 1S 4,000,000 4,000
= 2,000
Al 2,000
OJI=2sS4% =&l 600,000& » 29H 1,200
= 600
Al 600




2AM: sg€ll=
=R ESD EIE
el SEXES A (S5 &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O=sg3dgdolgay 2,600,000& » 29H 5,200
= 2,600
Al 2,600
CEASUSE 500,000& » 1H 500
- 250
Al 250
oZdg N/ As 800,000& » 1H 800
= 400
Al 400
202 01 H 43,500 23,780 19,720
- 21,750
Al 21,750
01 = LH o4 1l 39,900 20,180 19,720
OJI=224%? 600,000& * 2% 1,200
- 600
Al 600
O=sg3dgdzogay 1,000,000 * 29 2,000
= 1,000
Al 1,000
OCEASUSE 300,000& = 1H 300
= 150
Al 150
OXM2H(=LZHMHZ(1001E))
18,000,000& * 1H 18,000
= 9,000
Al 9,000
oZdg N/ As 400,000& = 1H 400
= 200
Al 200
ONEZRd d2saHgeEs N
500,000&  364H 18,000
= 9,000
Al 9,000
04 2 501 Hl 3,600 3,600 0
OXNEZZRH 2RY ABHA(IS)
3,600,000& » 1H 3,600
= 1,800
Al 1,800
SENEAY SF JENE BE NV (NE) 7,400 7,400 0
= 3,700
Al 3,700
201 o2 Y| 1,400 1,400 0
= 700
Al 700
01 At 22l 1,400 1,400 0
OSUMSBENSS M 4g
700,000& = 23| 1,400
= 700




N s8II=
HE: Sl
oHelr SEXEAYR CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 700
202 O4dl 6,000 6,000 0
= 3,000
Al 3,000
01 = LH 4 Hi 6,000 6,000 0
OsSENEANL2HSXE
20,0003 = 25¢ = 123 6,000
= 3,000
Al 3,000
S0 sEdH need NI (XE) 2,400 2,400 0
= 1,200
Al 1,200
307 gl2tol & 2,400 2,400 0
= 1,200
Al 1,200
02 It M AHE L 2,400 2,400 0
O=sEXN&EXN dHN= 2,400,000 = 1004 2,400
= 1,200
Al 1,200
HEsgo 23 HMO(XNE) 45,000 45,000 0
= 22,500
Al 22,500
402 QI2H X201 M 45,000 45,000 0
= 22,500
Al 22,500
02 QI 2 AL EZ(OI X TH ) 45,000 45,000 0
OFI=sYel ZHA M A
50,000,000 * 1JH2 = 90/100 45,000
= 22,500
Al 22,500
FUsge ZZAULEAULE 10,800 0 10,800
= 5,400
Al 5,400
201 Let249] 8,480 0 8,480
= 4,240
Al 4,240
01 At 22l 8,480 0 8,480
OFU=sg A2 s LA+ 7,080
O1z JI&  230,000& * 4¥ * 1AI2+ » 33 2,760
= 1,380
Al 1,380
Olg =t 120,000& = 4% = 3AI2t * 33 4,320
= 2,160
Al 2,160
OBESY FYNG =4 ALY 2|
400,000& 400




N s8II=
FM: sHXAI=
el SEXES A (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 200
Al 200
OBESYO LN 24 HEY 29 YN
=2 500,000& = 104 = 23l 1,000
2 500
Al 500
301 LEHZ 2,320 0 2,320
2 1,160
Al 1,160
09 HALAHIX A S 2,320 0 2,320
OFASA ABAS DT SAY
8,000& * 20 * 23| 320
= 160
Al 160
OFUSA ABAS HILT FHBY
100,000& * 20H « 13l 2,000
2 1,000
Al 1,000
s sAY(sEXN-XH) 60,000 0 60,000
= 30,000
Al 30,000
307 gl2tol & 10,000 0 10,000
2 5,000
Al 5,000
02 It HAHEE 10,000 0 10,000
OB2F MZEJIz ANY EFUWHL L AuE
MEZzz)dH=2g 10,000,000& * 1JH 2 10,000
= 5,000
Al 5,000
402 2I2H X201 M 50,000 0 50,000
= 25,000
Al 25,000
02 QI E2AL EZ (OIS ) 50,000 0 50,000
OF=Z HM=Jl= Alg 50,000,000& = 142 50,000
= 25,000
Al 25,000
e 0 I8 Jzus(HS) 7,500 7,500 0
= 3,750
Al 3,750
201 et2 Y| 2,100 0 2,100
=2 1,050
Al 1,050
01 At 22l 2,100 0 2,100
OCtyet 2l 28 us TAM=E 2,100
023 2,100
-Jl2 130,000& = 1€ = 102 1,300
= 650




AN sIIsdH XA
B SN
Hel: SESAI = (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Al 650
-=} 80,000& = 1& * 102 800
= 400
Al 400
206 M= Hl 5,400 0 5,400
= 2,700
Al 2,700
01 M= dl 5,400 0 5,400
Ottt 2l €8 us M4
18,000& = 30 = 102 5,400
= 2,700
Al 2,700
sy oEE oMl Ad AE(KRE) 50,000 50,000 0
= 25,000
Al 25,000
402 212t X201 & 50,000 50,000 0
= 25,000
Al 25,000
02 RIZEXt 2 AL EZ (OIS ) 50,000 50,000 0
oY AEE OB AMAB(HS)
50,000,000 = 10024 50,000
= 25,000
Al 25,000
S M L=E AG(HEF) 9,200 72,000 A 62,800
= 4,600
Al 4,600
201 Yot Y| 1,800 7,120 ~5,320
= 900
Al 900
01 AP 2tel ] 1,800 7,120 A5,320
OsgIIAH ¥ S| 1=l 1,800
o= 200,000& * 64 1,200
= 600
Al 600
Ootd 5t 100,000& * 6¢¥ 600
= 300
Al 300
206 M= Hl 7,400 8,400 A 1,000
= 3,700
Al 3,700
01 M= 4l 7,400 8,400 A 1,000
O=gIIH ¥ s MH=Hl 37,0008 * 200 7,400
= 3,700
Al 3,700
SIS &4 438,200 439,280 A1,080
=) 147,460
Al 290,740




SA: sIISME R
M =HXA0=
S B SPIFS RN c
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
sENEAMY 2H5 K& 240,200 335,280 295,080
< 72,060
Al 168,140
201 £B-2d| 105,750 120,030 214,280
< 31,725
Al 74,025
01 At 22/l 105,750 120,030 A 14,280
Otz sZEEX K& 120,0008 * 930 & 11,160
< 3,348
Al 7,812
OSUVCHH SAF2A XA (SAY0ME)
60,000& » 9759 58,500
< 17,550
Al 40,950
O=AUTH SAH2N X (4-HA2)
30,000& » 5559 16,650
< 4,995
Al 11,655
O=goleH sAEEX KA (sHUME)
84,000& » 1109H 9,240
= 2,772
Al 6,468
OMBlselel A8nS B
5,000& » 1,500% 7,500
< 2,250
Al 5,250
OMls2o AZEWNE MRPES 180,000& 180
= 54
Al 126
OMlsglol AENSE 2Ax=E(LE22) 2,520
oJla 120,000& = 1AI2F » 1H » 63 720
< 216
Al 504
Ot 100,000& = 3AI2t = 1 * 63 1,800
< 540
Al 1,260
301 LPEXZ 20,650 14,650 6,000
< 6,195
Al 14,455
06 212toI= 2l 04 Hl 6,000 0 6,000
O=geltH dAsgIls A
2,000,000& » 39 6,000
< 1,800
Al 4,200
09 HALAHIX &S 14,650 14,650
OMolsgel 48 W=E A28
8,000& » 1,2259Y 9,800
< 2,940
Al 6,860




2N
X ZH -
L= B

el

Sl ME XIS
SR

S =X &t

(Al

- - _ RE!
SAH-EB .S (3H) - HEAY - BE2 0 AF o il HD=2
O=sgolstEtias A8 A 4,850,000 4,850
= 1,455
Al 3,395
307 QI2t0| ™ 3,150 3,150 0
& 945
Al 2,205
02 DI2HEAAIEE X 3,150 3,150 0
OE=sdU s& LIS 3,150,000& * 100 A 3,150
< 945
Al 2,205
308 AXISHXSOoIH 74,250 74,250 0
= 22,275
Al 51,975
10 ST 2SO USHE A A EAIS Y 74,250 74,250 0
OFSEe HDAANUE 2
2,250,000& * 334 74,250
= 22,275
Al 51,975
402 Q12F X 20| & 36,400 123,200 A 86,800
T 10,920
Al 25,480
02 DIZFXI2AIE EX(0IETHE ) 36,400 123,200 A\ 86,800
OHASAO B SHS HEMN X2
22,000,000€ = 1JH2 = 70/100 15,400
& 4,620
Al 10,780
OYs4-H BH3 J|YTE T
30,000,000€ = 1JH2 = 70/100 21,000
< 6,300
Al 14,700
SEMEEHEG MI=ES 168,000 74,000 94,000
= 66,400
Al 101,600
201 LEt2 Y| 54,000 54,000 0
T 16,200
Al 37,800
01 AFR 22l Yl 54,000 54,000 0
O=E204 BPANS 2=2 X
60,000& * 900H 54,000
< 16,200
Al 37,800
301 Bt M= 14,000 0 14,000
[ 4,200
Al 9,800
06 212+Q1 22| 01 b 14,000 0 14,000
O=s=0H4&XNEA A= 2,000,0008 * 7Y 14,000
& 4,200




2N
X ZH -
L= B

el

Sl ME XIS
SR

sYIlEXAEs

[undies Al

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 9,800
307 12+l & 10,000 10,000 0
< 3,000
Al 7,000
02 P HAMHEE 10,000 10,000 0
O0idsel SN X
10,000,000& * 1JH 2 10,000
< 3,000
Al 7,000
402 BI2HX=201 M 90,000 10,000 80,000
< 43,000
Al 47,000
02 QI EAIL EZ (01X S) 90,000 10,000 80,000
O5ENY 525 MY ST I A
10,000,000& * 1JH £ 10,000
< 3,000
Al 7,000
OsZ& 24 SXAE A (HEAY)
50,000,000& * 1JH A 50,000
< 25,000
Al 25,000
O=ges AMAMD LM (MEAY)
30,000,000& * 1JH A 30,000
< 15,000
Al 15,000
MII=ES ALY &4t 30,000 30,000 0
< 9,000
Al 21,000
206 M= Hl 30,000 20,000 10,000
< 9,000
Al 21,000
01 M= 4l 30,000 20,000 10,000
O=sJIH =3l e XN& M=
200,000& » 1508 30,000
< 9,000
Al 21,000
A2 (XZ &) 2,549,202 2,078,975 470,227
el 2H | 2,423,767 1,947,509 476,258
ol 2| 2,423,767 1,947,509 476,258
101 @124l 2,423,767 1,947,509 476,258
01 2=+ 333,160 296,236 36,924
OAlIZte 28+
10,9712 = 76 * 30AI2+ 128 300,167
OSIUAXN FL2R+2(6Y)
91,6473 * 6% * 60 32,993
02 JIEtE B 3,483 3,414 69




SN SYIEME NI
HM: HYM2HAH| (NI E D)
el ol 2y (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
CREFEECEICEEE)
9,675 * 1Y = 30AI2t = 128 3,483
03 2IAHAZZXHE 2,087,124 1,647,859 439,265
O30l 1,887,861
@)k 1,154,402
-Jt= 139 Xt 2,786,440& = 15 x 12& 501,560
-Ltg 58 X 2,271,410& * 21 » 128 572,396
-Ct= 549 Xt 2,234,590& » 3 * 12& 80,446
=g 578,652
-tESY 33,600
- R X 40,000& = 309¥ 12& 14,400
- JIEIES 20,000& = 80Y¥ 128 19,200
—HAIZ24E(IIZ)
19,170& = 30AlI2t » 15&H 128 103,518
—HAIZ24E(UZ)
15,820 * 30AlI2t = 21H 128 119,600
-HEAIZ2Z24E(0O3)
15,590& * 30AI2F » 3Y 128 16,838
-542244(013)
153,360& * 15H 25 57,510
-542254(L3)
126,560& * 21H 25 66,444
-542244(03)
124, 7208 * 3Y 25 9,354
X (0I2) 102,2408 x 15H 20 30,672
AR (US) 84,400 ~ 219 = 20 35,448
== (0a) 83,120 » 3H » 20¢ 4,988
&A= 50,000& = 39 * 12& 23,400
X st = 382,500& * 40| x 1294 18,360
-2E2=(0132) 139,320 x 15H « 128 25,078
242 (L32) 113,570 « 21H x 12€ 28,620
-25+2(03) 111,720& = 39 = 12& 4,022
—HEE G 100,000& * 1 = 123 1,200
OY &SIyl 93,967
-3 1,393,220& * 15Y * 23] 41,797
-U= 1,135,700 * 219 « 23| 47,700
= 1,117,290& * 2¥ x 23] 4,470
O= &t 130,000& * 39Y¥ * 128 60,840
OXNXHMEE 2 199,263
OHLESE= 1,887,861,000& * 3.23% 60,978
OIRLYEEZ 60,978,000& * 8.51% 5,190
O=01H= 1,887,861,000& * 4.5% 84,954
OnNsEeEd 1,887,861,000& * 1.5% 28,318
OMMES 1,887,861,000& * 1.05% 19,823




FA: sgllsdH XNI= D
= HE2G AU (REIE )
el =P CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Jl=234l 125,435 131,466 26,031
Jl23Hl 125,435 131,466 26,031
201 Let24d] 47,832 42,356 5,476
01 At 22/l 47,832 42,356 5,476
oJlz2ged #s2H(JI&EZHl)
500,000& * 22 * 95% 10,450
o=sHl(I1=2Hl)
8,000& » 22 = 8L « 12& » 95% 16,052
(©F=ES).] 60,000& = 28 = 115¢ 13,800
O==HI|(HeH) 30,000& * 251 7,530
202 odl 61,933 72,960 A11,027
01 = LH o4 1l 28,333 39,360 A11,027
O=UALI(IIEZH)
20,0003 = 9% » 82 » 123 x 80% *» 95% 13,133
O 22 0 4l
80,000& » 2% = 52 » 203| » 95% 15,200
02 X 33,600 33,600 0
OXIAI & &A0 bl
200,000& = 1294 = 12& 28,800
Osgoladgds XA
200,000 = 2% = 12& 4,800
203 YR =2t 15,670 16, 150 A 480
01 )1 22L =8 6,000 6,600 A 600
OJIENH(42) 6,000,000& = 14H 6,000
02 AP 2= 4,450 4,330 120
OJ&EA 4,450
O 100 Ol st 40,0003 = 100 4,000
O101~400 30,000& = 159 450
04 FN2EHSZTH 5,220 5,220 0
OJlEA 5,220
O30% olat 400,000& = 12& 4,800
O30 =u 5,000& * 78 » 123 420
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EX: sgIIsde D=2
MM sHI) =23
el HeaAIMAY (sl &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
09 HAIAHI X & 2 800 800 0
OMYRS ZEEIIS HAX 34
8,000 * 100 800
402 QI2t A2 337,800 316,040 21,760
01 QI2t X = SER(XAMMSE) 337,800 316,040 21,760
orLSHH= =Zoff S22 (IPM)IIsE=2 AlEY
34,000,000 = 404 = 70/100 95,200
ol 92 = =8 Mul AlY
35,000,000 = 4044 = 70/100 98,000
ONXE BN UM JSNA Al
35,000,000 * 1= 35,000
O&224dI=0 SuH ASE 2IAY
20,000,000 * 1= 20,000
OAHIX dSE & HZE D20 MA A™
28,000,000 = 1JHA = 70/100 19,600
OAAR2 JIZBAIE SUis 25 AlY
40,000,000 = 294 = 70/100 56,000
OZXZ Yolls M UM Iz 22 AlE
10,000,0009 = 2J0 A = 70/100 14,000
MM 2 363,811 291,459 72,352
H&2l)s2a2 363,811 291,459 72,352
101 e1214| 19,111 14,459 4,652
04 J|12ZtHIZ22NEES 19,111 14,459 4,652
(ORI ESE=— I 29 o8 19,111
ool 73,860 * 1¥ % 262 * 9& 17,284
[OFaRAgh= N 17,284,000 * 3.23% 559
O&ILEE =2 559,000& * 8.51% 48
O=201Hd3 17,284, 0008 * 4.5% 778
ongEEs 17,284,000 = 1.5% 260
OMMTEE 17,284,000 * 1.05% 182
201 et d| 3,780 4,000 A 220
01 A2t 2| bl 2,280 2,500 A 220
OJI==2SAY S&8H-OIg Wi
15,000& * 1008 * 95% 1,425
OJls= SSHIIE NHFAXZ
450,000& * 2CH * 95% 855
012 3249 1,500 1,500 0
OstH H SX2== 100,000 = 5J4 500
OEPIE &HHl = Xl H] 200,000& = 5= 1,000
206 M = dl 3,000 3,000 0
01 X2 bl 3,000 3,000 0
OZIIZ A ME 72 100,0008 ~ 30= 3,000
301 BetE A 800 800 0
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Sl ROIMYAYHA S CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
09 HAIAHI X & 2 800 800 0
OJl=E22 MY S HIIg F&X 34|
8,000 * 100 800
307 2Iz2to| A 54,320 40,000 14,320
02 QI AAIE E X 9,700 10,000 A 300
OJMZE BEINSE /st s#&)|=X&
2,500,000 * 403 * 97% 9,700
04 QIZ2tSHAFALS B X 44 620 30,000 14,620
OO0 MAl L AKX
11,500,000 = 50H&= % 80/100 * 97% 44,620
402 SI2FXHE0| M 269,500 214,200 55,300
01 SIZEXIEANYEXR (MMM E) 269,500 214,200 55,300
OR2AZ UMY MBS AY
10,000,000€ = 1JHA = 70/100 7,000
OHUHSoIRA 2T M2 MAE AlY
50,000,000 = 1JH2A * 70/100 35,000
ORU&ES AtA EoHAAE B2 AlY
10,000,0009 = 5J0 A = 70/100 35,000
O1NX)| FEH INEECEH 0l DEE it
S MAF AI® 40,000,000 = 1JHA * 70/100 28,000
Oz E dilEY ELolis B H AlY
20,000,000 = 1JHA = 70/100 14,000
O H ZT MACI & AlY
24,000,000 = 3244 = 70/100 50,400
Oks E28 T I3 AY
12,000,0008 * 1942 * 70/100 8,400
OBAMHS S8 1= HHMM AlY
5,000,000€ = 2J0A = 70/100 7,000
OzNEZE WAMA =L AlEH
27,000,000 = 3244 = 70/100 56,700
OAIEMA DRI HHMA Iz E2 AEH
20,000,000 = 2J04 = 70/100 28,000
405 XHA&HF S HI 13,300 15,000 A 1,700
01 AL 2 FF S| 13,300 15,000 A 1,700
OB+ 950,000 * 1404 13,300
ERNEE R R 395,400 227,700 167,700
EMNAA) | sES 390,500 220,000 170,500
301 YetE X3 2,000 3,000 £1,000
09 SHAIAHI X & 2 2,000 3,000 A 1,000
OJlzE22d g9 W0
20,000 * 500%™ « 2 2,000
402 BI2H X 20| M 388,500 217,000 171,500
01 SIZEXIEANSEXR (MM A) 388,500 217,000 171,500
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G SEAtEGZ A2

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONZFE =Z Mo & I3 MY
20,000,000% * 5JHZ * 70/100 70,000
OICT&E JIsAd 2] Jls2a ALY
15,000,000& * 15J0H 4 = 70/100 157,500
OYE YUY L L5 L AY
7,000,000& = 20JH2 = 70/100 98,000
O0IAJI= UiHl &= Matd & ALY
20,000,000& = 24 = 70/100 28,000
OLAS AAM B B4 AY
10,000,000 * 5JH 4 * 70/100 35,000
AL 2AA2H 4,900 7,700 A 2,800
201 Let249H] 500 500 0
02 =224l 500 500 0
oIz 2E AMEFHI R
100,000& * 58 500
206 M= Hl 4,400 5,200 A 800
01 =8l 4,400 5,200 A 800
OzXFF LY 2F MHEHI
100,000& * 208 2,000
omsAEMBRL 29 28
1,200& * 2,000L 2,400
SEExsZyHE L 489,315 434,000 55,315
SEXASI=ES 237,740 210,400 27,340
201 Let2d] 4,940 5,200 A 260
01 At 22l 4,940 5,200 A 260
OSSHE)I2E S (LE23) 3,040
OJla 120,000& * 1AI2t = 108 * 95% 1,140
o= 100,000& = 2Al2t = 102 » 95% 1,900
OEEXE NE2Y 100,000& = 103l = 95% 950
OSEXSI) =U=s X0 HEEXI
500,000& = 2CH = 95% 950
301 LEXZ 3,200 3,200 0
09 HALAHIX RS 3,200 3,200 0
OSEXHSII=u=s =4t
8,000& = 40 = 102l 3,200
402 RI2FX=201 M 229,600 202,000 27,600
01 2IZE 2 A B (KR ) 229,600 202,000 27,600
OEINHA Chx=t HE Mok AlY
50,000,000& = 2JHA * 70/100 70,000
OHA THHHAF AIEOHE AlE
20,000,000 * 3202 * 70/100 42,000
OO0 =EMHE 43 AlE
30,000,000 * 1JHZ * 70/100 21,000
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o9l SENSAYABG CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXEZXM &8 NSHCIL MAAHY
10,000,000% * 1JHZ * 70/100 7,000
ORY ASHE M A"
20,000,000 * 3202 * 70/100 42,000
OS=He WY LHE A B3 W
22,000,000 * 1JHZ * 70/100 15,400
OHEIHA SEHEH SILH AlY
20,000,000 * 120 * 70/100 14,000
OlldsE &2 HicliF 2 4o A
20,000,000 * 120z * 70/100 14,000
OFIHA SHZ0 X Al THHH
3,000,000& = 2JHA * 70/100 4,200
SSNE stite HAt 12,175 12,200 A 25
201 Let249] 475 2,000 A 1,525
01 At 22l 475 2,000 A 1,525
OsS4tE e0tg A SHEHN A
500,000& * 15 = 95% 475
206 T 2 bl 6,200 3,200 3,000
01 =8l 6,200 3,200 3,000
O=E4E tote HAIMZE  160,000& * 205 3,200
O=sSHE 882 MEH#HA WE
3,000& = 1,000 3,000
305 a2 S 5,000 5,000 0
01 Hia=s 5,000 5,000 0
OsSSAE BitY AN =SS EA8Y
250,000& *» 208 5,000
401 A& HI L 20l 500 2,000 A1,500
04 A2t Al EHI 500 2,000 A 1,500
OsSA4&E 0tE AL A& H|
500,000& * 1JH 2 500
NHELS ALY 239,400 211,400 28,000
402 QI2H X201 M 239,400 211,400 28,000
01 2I2F 2 A B (RERTH ) 239,400 211,400 28,000
OJI&0IH HE 20IX - B2 A HH ML AlH
A (Ed) 30,000,000 * 1JHZ * 70/100 21,000
O MUIEX =4 AIEH(0I&)
20,000,000 * 1JHZ * 70/100 14,000
OvAS &= Tsael, MUl Al (Ord)
15,000,000 = 2J4 = 70/100 21,000
O Mg st DI FEQE ME AlE(
=) 15,000,000 = 2J0 4 = 70/100 21,000
OFEx= DRI HEAAY IE AIY(2
Q) 10,000,000 * 1JHZA * 70/100 7,000
OAH EHCE AHAMNIZE & BEZ(2
Q) 10,000,000 * 1JHZA * 70/100 7,000
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o9l SENSAYABG CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ONEZE H MK JsES AIE(L0])
10,000,000& = 1JH4A = 70/100 7,000
OLaE Mg J=E22 AIYE(LE0l)
20,000,000 = 1A = 70/100 14,000
OEANZW HHdsd2 45 & AE(8EE)
20,000,000& = 1JH4A = 70/100 14,000
OULME AXFM MES s ELHSEAIR(
%) 20,000,000& = 1JH4 = 70/100 14,000
OH sRdeEs 528 22 Jis22 Mg
) 22,000,000& * 12 * 70/100 15,400
O=e ZIITHEH UK EBZ Al (S4H)
20,000,000& = 1JH4 = 70/100 14,000
OZUEONE ANEMA D2Ulol M2ZHAIE (A
) 20,000,000& = 1JH4 = 70/100 14,000
ODlH=(CE0) XEE &Y &2 ASTHHH(
=) 20,000,000 = 1JH4 = 70/100 14,000
OAHEGIR2A E#HHMH ANE(2FE)
10,000,000 = 2JH4A = 70/100 14,000
OENII SSEXNE A SAEA M AE(
£0I) 20,000,000& = 1JH4 = 70/100 14,000
ORUEEXE MUHX Z=H(22E)
20,000,000& = 1JH4A = 70/100 14,000
NIl=E3 M X 1,903,840 2,859,540 A 955,700
= 956,440
Al 947,400
sHAISAYOIsAIY XH) 1,689,000 2,163,000 A 474,000
= 844,500
Al 844,500
402 RI2EX20| 1,689,000 2,151,000 A 462,000
= 844,500
Al 844,500
02 2IZE 2 A EZ (01X THS) 1,689,000 2,151,000 A 462,000
O2LcHESE UM =1D3SE H M4 =5 AFC
A s4d 200,000,000& * 1JH 2 200,000
= 100,000
Al 100,000
Ol F=ER Us01s SN AE
150,000,000& * 1JH £ 150,000
= 75,000
Al 75,000
OFBZE MUSE M =4
50,000,000& * 1JH A 50,000
= 25,000
Al 25,000
QA0 22X &= INHES MY E= Al
400,000,000& = 1JH 2 400,000
= 200,000
Al 200,000




AN sEIIsdE Jls2sH
M sYllsE=2

S MII=ESMEX

SA BB O () - MM - HES 0l &+ o4 il
OJIZE B 2o= ANCN 5&
204,000,000& * 10H 2 204,000
= 102,000
Al 102,000
OFNIL NSLSHE B2 HEZHLH I
= AlY 50,000,000& * 1JH 2 50,000
= 25,000
Al 25,000
QARBA GIOIE Jlgr ADIE FABII|S
A& 40,000,000 * 10H2A 40,000
= 20,000
Al 20,000
O At ZMH HDNE Ast CAME ZH0l
H A" 180,000,000& * 1JH 180,000
= 90,000
Al 90,000
OBNE IUSHEE 23 Al
80,000,000 * 1JH 80,000
= 40,000
Al 40,000
OBUSY YMES 22 A Y
40,000,000 * 10H2A 40,000
= 20,000
Al 20,000
ON=ZY oY SS=sXS &tetH ASAEN
M HeEE BaIlE Y
50,000,000& = 1JH = 50,000
= 25,000
Al 25,000
OAQGE MAHEE 2cAMLAH E=AlY
60,000,000& * 1JH 2 60,000
= 30,000
Al 30,000
OEZY =02 IHE N&d HsS SAES
A& 35,000,000& * 1JH 2 35,000
= 17,500
Al 17,500
Ost? =48l 28 MAYR IR &
&t 80,000,000& = 1JH 2 80,000
= 40,000
Al 40,000
OLEleIHA STl ADtETHHI AN & & 22|
Il Al 70,000,000& * 1J0H2 70,000
= 35,000
Al 35,000
zeRss 29 NA(IY W) 10,000 10,000
2 5,000
Al 5,000
201 L2l 3,000 3,000
= 1,500
Al 1,500
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R MIIs=ESAgXH (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OHolz Wil MA 2 22 62,0008 * 405 2.480
= 1,240
Al 1,240
OBME WHEY =IIH AT E(2,060m)
1,020,000 1,020
= 510
Al 510
206 M = dl 3,760 2,720 1,040
= 1,880
Al 1,880
01 X2 bl 3,760 2,720 1,040
OBlE HEEZ A 29 HE
20,0008 * 188 3,760
= 1,880
Al 1,880
405 XHoHFE S HI 5,830 10,850 AN5,020
= 2,915
Al 2,915
01 XA E B F S| 5,830 10,850 A5,020
OAMED&H 2,915,000& = 2CH 5,830
= 2,915
Al 2,915
SsXASHlE AET 29 XK (2EH) 6,600 6,600 0
= 3,300
Al 3,300
201 gBt2Ay| 1,100 1,100 0
= 550
Al 550
01 AP 2t 2| H| 1,100 1,100 0
OWHE BBE 2% HE M
50,0008 = 22= 1,100
= 550
Al 550
301 et M3 5,500 5,500 0
= 2,750
Al 2,750
12 JIEtE A2 5,500 5,500 0
Oddls 2&EE 29 BAa2
250,000& * 229 5,500
= 2,750
Al 2,750
sHS2gals gHH N (XE) 108,800 32,340 76,460
= 54,400
Al 54,400
307 212t0| & 108,800 32,340 76,460
= 54,400
Al 54,400
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S MII=ESMEX (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 108,800 32,340 76,460
OsXE BHE LA
108,800,000 * 1JH 2 108,800
2 54,400
Al 54,400
2z 24 N (XH) 34,000 33,200 800
= 17,000
Al 17,000
101 14 Hl 3,400 3,300 100
= 1,700
Al 1,700
04 JIZHHZ2XREE S 3,400 3,300 100
OZir=s SHEXE JAHMIEX AHH (40
S ILEH 3,400,000& » 14H 3,400
= 1,700
Al 1,700
201 £B-2dH| 18,000 17,340 660
= 9,000
Al 9,000
01 At 22/l 7,000 6,340 660
O0Zars SEXF =29 =EH|
10,0002 * 538 530
= 265
Al 265
024z SN BEESS ML
600,000& = 43| 2,400
= 1,200
Al 1,200
OZirs SHEXE 2A==L (LB 28 4412 ]
&) 4,070
OPIE= 130,000& * 18 * 1AI2t = 118 1,430
= 715
Al 715
OZFt 80,000& = 1H * 3AI2H = 113 2,640
= 1,320
Al 1,320
03 A2 Z Hl 11,000 11,000 0
OZars SEXH dstu=
11,000,000& * 13l 11,000
= 5,500
Al 5,500
301 LEXZ 2,600 2,560 40
= 1,300
Al 1,300
09 HALAHIX A S 2,600 2,560 40
OZis SN WKH ZAH|
8,000& * 652 = 53] 2,600
= 1,300
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sll=dg Jzs2s

MM sHI) =23
R MIIs=ESAgXH )
- _ _ RE]
SA BB (SH) - NRAY - B %@i 2t
Al 1,300
307 2iz2to| & 10,000 10,000 0
= 5,000
Al 5,000
02 QIZ2IA AAIE E X 10,000 10,000 0
OLdArs SHEXNE AlIY 5,000,000 * 2002 10,000
= 5,000
Al 5,000
2As AbY2tel & TWOIXR(KH) 10,000 10,000 0
= 5,000
Al 5,000
201 et Y| 7,000 6,680 320
2 3,500
Al 3,500
01 AP 22| d| 1,800 1,500 300
OUL= AILBEl L AT BAXE L 5
Bz ME 100,000 * 12= 1,200
= 600
Al 600
OULs AABR L AT HSUXD
600,000 = 1CH 600
= 300
Al 300
03 A2 Y| 5,200 5,180 20
OdAr=s At 2| L AIEEDI HAIZE XS
5,200,000 = 13| 5,200
= 2,600
Al 2,600
202 044l 2,000 2,000 0
= 1,000
Al 1,000
01 2L Y| 2,000 2,000 0
OdArs At 2] L A E I o dl
20,000 = 5% » 20 2,000
= 1,000
Al 1,000
301 B EHZ 400 320 80
=2 200
Al 200
09 #HAIAHIXIE 2 400 320 80
OLArhs AtHZUE Y AEHI sABA
8,000 = 50H 400
= 200
Al 200
305 a2 S 600 1,000 A 400
= 300
Al 300
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SRl MIIERSAYK (29l & 2)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
01 tha 2 S 600 1,000 £400
OLAS AYB2 ¥ AYEI A BB 2y
100,008 * 63 600
2 300
Al 300
MOS0l eI ZUA ASHENRA(SERE, X 6.000 6,000 0
)
2 3,000
Al 3,000
201 Lt 2 bl 5,600 5,360 240
2 2,800
Al 2,800
01 AbR2tel] 5,600 5,360 240
OAMOIH SO e-HIXLA ASHBENRDS
YAS (LB, A2 IIE) 5,180
oJl= 130,0008 * 1% « 1AI2} » 143] 1,820
2 910
Al 910
0%t 80,0008 * 198 » 3AI2 * 143 3,360
2 1,680
Al 1,680
OAOIHZYE e-HIXLIA DS S+ 2]
10,0008 * 425 420
2 210
Al 210
01 LBt 400 640 ~240
2 200
Al 200
09 #AHAHIXI# 2 400 640 £240
OAOIHZE e-HIXLIA DS SAEA
8.0002 * 25% * 23] 400
2 200
Al 200
SUBASEARS(NR) 11,040 9,600 1,440
2 11,040
202 04l 3,680 2,720 960
2 3,680
01 2UHotb 3,680 2,720 960
OSNE ASIA 24 ¥ YIS IT of
bl 20,0008 * 43] * 465} 3,680
2 3,680
SR 7.360 6.880 480
2 7.360
FEREERE 7.360 6.880 480
OSNE ASIA 24 JIBIA 243
40,0008 * 46 + 43| 7.360
2 7.360
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S MII=ESMEX (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ANESat=sdlI=88s AN (XE) 10,000 10,000 0
2 4,000
Al 6,000
101 @14 Hl 10,000 10,000 0
= 4,000
Al 6,000
04 JIZHHZ2XRHEE S 10,000 10,000 0
ONAES=AIEHES QAN (UYLEE
&) 10,000,000& * 1H 10,000
= 4,000
Al 6,000
MII=&adls2 3 647,000 553,790 93,210
< 254,100
Al 392,900
MII=2S ALY &4t 337,000 543,790 A 206,790
< 101,100
Al 235,900
307 2I2+0 & 85,000 117,000 A32,000
= 25,500
Al 59,500
02 It S AIHE L 85,000 117,000 A 32,000
Osxs dais 2=
85,000,000& * 1JH 24 85,000
< 25,500
Al 59,500
402 DIZHRFEO0I A 252,000 426,790 A174,790
= 75,600
Al 176,400
02 2IZI 2 AL EZ (01X TH ) 252,000 426,790 A174,790
OEE &2 H Moz 25 MY
35,000,000 * 1JHZ * 70/100 24,500
= 7,350
Al 17,150
ONSE & diH 2 SEI=s MY
30,000,000 * 1JHZ * 70/100 21,000
= 6,300
Al 14,700
OB AMTHH JIz2E AY
40,000,000 * 1JH2 = 70/100 28,000
< 8,400
Al 19,600
OZ A 222 THHH MAtA SF&FAIH
15,000,000 * 1JHZ * 70/100 10,500
< 3,150
Al 7,350
ONZTE s¢s ASHUAS AT ANLSZHA
AE 40,000,000 * 1JH2 = 70/100 28,000
< 8,400




A sgIIsdH Jl=220
=R RSP
S MIIsE)|IsE2 C
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 19,600
OO0k OlADIA e s&22 AlY
40,000,000 = 1JHA = 70/100 28,000
[ 8,400
Al 19,600
OXM3 23 MAD|= AEY
20,000,000& = 1JHZA = 70/100 14,000
== 4,200
Al 9,800
OICT 8 2= HHMS0IJ] 018 AlY
30,000,000 = 1JHZA = 70/100 21,000
== 6,300
Al 14,700
OICT 8 EAMHALALEY 25 AlY
20,000,000 = 1JHA = 70/100 14,000
[ 4,200
Al 9,800
OEEY ZA U B2 Jz22 Y
30,000,000€¢ = 1JH2 = 70/100 21,000
& 6,300
Al 14,700
OR2UA 2F NSHTAAY B3 Al
20,000,000€¢ = 1JH2 = 70/100 14,000
& 4,200
Al 9,800
OSP4 ZOA AENE AlY
20,000,000€¢ = 1JH2 = 70/100 14,000
& 4,200
Al 9,800
OTHGHOoI S ol & OFH M A AlY
20,000,000€¢ = 1JH2 = 70/100 14,000
& 4,200
Al 9,800
S&=E Hols EENE 29 10,000 10,000 0
== 3,000
Al 7,000
201 LBt 2t 7,800 10,000 A2,200
= 2,340
Al 5,460
01 At 22l ] 7,800 10,000 N 2,200
oOYadls PLS EE2 M 1,000 * 9708 970
o= 291
Al 679
OAIREd =2t 3,050,000 3,050
== 915
Al 2,135
OsUUHMAE M 2L 7,000& x 3008 2,100
o= 630
Al 1,470
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SN HH-S(BN) - MBAY - B il HlnE2
Ogdizs &M EAARZE =Y
70,000 * 6% = 43| 1,680
= 504
Al 1,176
405 XHoHF S HI 2,200 0 2,200
< 660
Al 1,540
01 XL 2 ZFH S| 2,200 0 2,200
OXNsEXN 2FEX 2,200,000& =« 1CH 2,200
= 660
Al 1,540
MIIE2S A EA(XIE02) 300,000 0 300,000
< 150,000
Al 150,000
402 2I2H X201 M 300,000 0 300,000
< 150,000
Al 150,000
02 DIt 2AIS EZ (01 &) 300,000 0 300,000
ozEd Ex01 X4
300,000,000 * 102 300,000
< 150,000
Al 150,000
HHR2IZH(Ol=sE22) 60,507 61,691 AN 1,184
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15,000,000& » 124 * 95% 14,250
03 & Ar2 I 10,000 24,000 214,000
OsttE HES dAl 88
10,000,000& * 13l 10,000
206 M= Hl 15,000 25,200 A 10,200
01 MHZ 8l 15,000 25,200 A 10,200
OsAE JI3Jls 20t 24 ws MZH
15,000& = 1002 = 102 15,000
301 LEXS 720 2,560 A 1,840
09 HALAHIXI &3 720 2,560 A 1,840
OsAE JI3Jl&s d20 24 Ws 4L 3
A2 8,000& = 90H 720
307 glz2+ol & 9,991 41,500 A 31,509
02 QIZtE M AHEE 9,991 41,500 A 31,509




FA: sgIIsdH HFNY D
ol
e SMEINSUTEY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMYEO| 2 T HE &2
5,150,000& * 2JH 4 * 97% 9,991
HAXA 393,870 0 393,870
FIsOAEME 2453 X3 332,565 0 332,565
101 @124l 61,298 0 61,298
04 JIZHHZ2XNSE+ 61,298 0 61,298
ORJIIsOHHEEHH 298 2 61,298
OJIZHZEX A2 (NEX)
74,9103 * 2% * 262 « 103 38,954
OZEFItHI 200,000 = 2Y « 23] 800
OFaR= k= 1= 38,954,000& * 3.23% 1,259
OFIILEE= 1,259,000& * 8.51% 108
O30z 38,954,000& * 4.50% 1,753
ons=sd 38,954,000& * 1.50% 585
OtHEE 38,954,000& * 1.05% 410
OJIZHMZ2X 8
74,9103 * 198 « 262 » 83 15,582
OZFEFItHI 200,000& = 1 = 13 200
OFaRzg-h= 1= 15,582,000& * 3.23% 504
OFIIRYEE= 504,000& = 8.51% 43
O=ggd= 15,582,000& * 4.50% 702
OneE:d 15,582,000& * 1.50% 234
OuTHEH 15,582,000& * 1.05% 164
201 Let24d] 97,767 0 97,767
01 At 22l 36,832 0 36,832
ORoAH 84 110,000& = 128 = 95% 1,254
ORII=s=egHi 228 29| 11,733
OZetl, =8, g% S M
12,350,000 * 95% 11,733
ORJIIsOHEHEH 28 A28 ¥
200,000& * 40& = 95% 7,600
ORII=sOHHEHEH AHE/AE &8 3,705
oJla 100,000& = 15H = 23| * 95% 2,850
Ot 30,0003 = 159 = 23| = 95% 855
ORJIIsOHHEEH B2 HME8Ns TAsE 12,540
OJlz2(gees)
120,000& = 1AlI2F = 303 * 95% 3,420
Ox1t(Ler2z)
100,000& = 2Al2t = 303 * 95% 5,700
oJlz(Ex)
40,0003 = 3AIZ2t = 308 * 95% 3,420
02 =224l 60,935 0 60,935
ORI=0HAEHE HIQS(0ILUH) 48,935




FA: sgIIsdH HFNY D
Ha: AR
& HRXA (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
oJlez 8,230 * 147Kw » 12 14,518
(OFSIPNE=3=3 93.8& = 30,576Kw * 128 34,417
FI=sO0HAEHEH Mot=ER2= 12,000
Odol=E 23 1,000,000& = 12& 12,000
206 M= Hl 58,000 58,000
01 =8l 58,000 58,000
O=24F3d 298 M= 500,000& = 808 40,000
ORJIsOHAEHH 28 HMEUs 28 ME
20,000& = 309¥ = 303l 18,000
207 Ao H| 22,000 22,000
02 & AR b 22,000 22,000
OZHOIX & 0202HE(Y) 7 5
22,000,000& * 1JH =2 22,000
401 Al I 28I 84,500 84,500
01 A& HI 84,500 84,500
I sOHAEEH 2t X
15,000,000& * 12K 15,000
ORII=sOHAENE Hell &X
10,000,000& * 12K 10,000
ORII=s0HAEHE HIJHE Al X
170,000& * 350m 59,500
405 XHoHF S HI 9,000 9,000
01 XAt 2 S FH S| 9,000 9,000
ORJIIsOHAHEHEH 29 HH 7 9,000
OFX= A (Zet) 9,000,000& = 1CH 9,000
2= 438 N 61,305 61,305
201 Let24d] 11,305 11,305
01 At 22/l 11,305 11,305
OMAR ZA A2 WE DA 5,415
OJlz2(deH=z)
230,000& = 1AIZt * 108 * 95% 2,185
Ox=(deH=z)
120,000& = 1AlI2F = 103] » 95% 1,140
OJlz2(deeg)
120,000& = 1AlI2F = 103] » 95% 1,140
Ox=(dereg)
100,000& = 1AlI2F = 103] * 95% 950
OMMT =2 Aot W' WM =
8,000& = 403 = 103 = 95% 3,040
OMMT EX STV DT MY AXE
500,000& = 63l * 95% 2,850
206 M= Hl 8,000 8,000
01 =8l 8,000 8,000




AN sEIIsdE AFHED
I AFME

Sl K CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMATt 22 AEFds WE MHEHI
20,000& = 40 « 103l 8,000
301 LEHZ 3,200 0 3,200
09 HALAHIX RS 3,200 0 3,200
OMMT EX ATAS DT A
8,000& = 40 = 102l 3,200
307 gl2tol & 38,800 0 38,800
02 IZtEHAIHE L 38,800 0 38,800
Oz &d st o KRIISHH ALY
15,000,000& » 2JH 4 = 97% 29,100
OB SMS TE YA AlY
5,000,000& = 204 = 97% 9,700
ANE2F 1,271,260 1,605,983 N 334,723
SI=sHA ANE2d 1,271,260 1,605,983 A 334,723
101 @14l 279,847 234,351 45,496
04 D12t 22 HEE = 279,847 234,351 45,496
ORJIs=eHA 2¢ 22 104,557
OJIZtHZ2Z2 X 1Y
74,9108 * 6H * 262 * 8& 93,488
OZ 2 Fotdl 200,000& = 6Y = 13 1,200
OFaRzgh= 1= 93,487,680& * 3.23% 3,020
OFIIRAEE= 3,019,652& * 8.51% 257
O=8g= 93,487,680& * 4.50% 4,207
ons=g 93,487,680& * 1.50% 1,403
OtHEH 93,487,680& * 1.05% 982
OHANAZ2IH(EZ )
74,9103 * 13¥ = 180¢ 175,290
201 2et24d] 310,256 604,647 A 294,391
01 At 2teltl 63,195 99,300 A 36,105
OLTANE FX2C2ES
350,000& » 2JHA = 128 = 95% 7,980
OTHXl &I k& &l &k (1800kw)
3,500,000& = 95% 3,325
OdJ|etA 2te| X S|
120,000& = 1H = 95% 114
ogdze 84 550,000& = 53| = 95% 2,613
0sZI |FA2el 4
200,000& = 40H2 * 128 * 95% 9,120
o%eldd 4 200,000& = 12& = 95% 2,280
OCCTV S X &el &4 700,000& = 128 = 95% 7,980
OXZ&H sX2e 224
500,000& = 12& = 95% 5,700
ORJl=s MENs Z20NY 2H LA2E 2
180,000& * 58 = 95% 855




AN sEIIsdE AFHED
I AFME

&S AE2d (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OADNEZ W=EE UM £ 22 M
10,0003 = 2508 » 95% 2,375
CENNELIPSE -+ TIE -1
1,650,000 * 43| * 95% 6,270
ORI=sHX EE MENE AL 10,640
OJl2(gereag)
120,000& * 1AI2t = 283 * 95% 3,192
Oz m(Lereg)
100,000& * 2AI2t = 283 * 95% 5,320
OJI2(E=x)
40,0002 * 2AI2 = 283 * 95% 2.128
©F4I e 242
40,0003 = 5CH = 12& = 95% 2,280
OHX2g I=l 1,663
o= 90,000& = 7% = 95% 599
(@OFSg=}-i 60,0003 = 7H = 95% 399
ogst=s 100,000& * 7H = 95% 665
02 =224l 247,061 385,647 A 138,586
ORIN==SEHA IS (SMAE) 62,700
oJlzz 1,210& = 600Kw » 128 8,712
O&IIMNEE 40.9% * 110,000Kkw » 12 53,988
ORI ==X IS (Ler=)-0tAE HH
2 AlA 119,094
oJlz= 8,320& = 350Kw » 12& 34,944
O&IIMNE= 93.5& * 75,000Kw * 128 84,150
ORIIs=EEHA SIS 20,400
OwifiMbl A FHEH U=
1,100,000& * 12& 13,200
OJlgs8leHl(wifidbla 3ld)
500,000& = 123 6,000
OIS EAHU(ZBAHAAE HE)
100,000& » 12& 1,200
O&HIRA HEAZY| 15,300
O&= 1,275& = 12,000L 15,300
ORIIs=EgHi ZH2d8 |FFJU 1,041
O&= 1,275% * 600L 765
Oz g= 1,377& * 200L 276
OM=Z(293) EA 1,800
Oozzsd 283 E4& 1,200,0008 * 13 1,200
O0HEdE 223 #4A  300,000& * 23] 600
O=sJIH &¥Hl SeEd8= 400,000& = 10CH 4,000
OA YA & 3/ 50,000& = 13l 50
O A& ZEHlI S X bl 16,056
OHESRANE>S(0HHEMEH, M4SHE2)
1,287& * 3,844m 4,948




AN sEIIsdE AFHED
I AFME

Sel: NESY (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OnsssIEs2(&1) 671& = 660m 443
OA=ERNESE(SUHASY, d124)
196& * 3,390m 665
=IIs= X #dl KA
1,000,000& = 105 10,000
O&HIIJI=AE 3| 120,000& * 13 120
OZUHASA 2R FA
6,500,000& = 1A + 13] 6,500
206 M= Hl 124,000 164,000 A 40,000
01 =8l 124,000 164,000 A 40,000
OZUHAZH 2= 400,000& = 50& 20,000
oOg24 2ENME 500,000& = 403 20,000
O&HoIRA 2EME 500,000& * 203 10,000
oARZ2AXZE M= (22, 88X, 88, s
o) 1,000,000& * 50& 50,000
ORJl=s MEns ZT=0Y 24 Ws 7Y
25,000& = 402 = 243 24,000
301 LEEAZ 9,600 12,800 A 3,200
09 HALAHIX A S 9,600 12,800 A 3,200
OZUASE NUHASAL &H K&
10,0003 * 4H = 240 9,600
401 Al I 28I 513,717 378,708 135,009
01 A& HI 510,500 376,000 134,500
OXZAE 2elAre 20,000
os=dE 7,000,000 7,000
Oz = Al 7,000,000& 7,000
Ou=AlHl 6,000,000 6,000
OACIEE =& s &X
12,000,000& * 1JH 2 12,000
OACEE XNsRULHI &X
11,500,000& * 1JH 2 11,500
O%RJls X MEg2 2te &%
3,500,000& * 200 £ 7,000
ORI =X HH FNEBH(&HI], &8, D
A, S) 40,000,000& 40,000
OQAREZE I B AH(55,445.3n* )
100,000,000& * 1JH 2 100,000
OHX O W=Ed s &X
70,000,000& = 10H 4 70,000
OII=mW3a AN&E2 &
100,000,000& * 1JH £ 100,000
ORIIsHA 282 AL &
150,000,000& * 1JH £ 150,000
03 Al 2 THHI 3,217 2,708 509
FI =X AME2F  510,500,000& * 0.63% 3,217




2N
X ZH -
L= B

el

SYIl=dg AR
A ON Y
ANE2d

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
405 XHoHF S HI 33,840 96,157 A62,317
01 XY 2 ZFH S| 33,840 96,157 AN62,317
ORIIs=A Mgz 29 Zl 10,300
Casse:s 5,600,000& = 1CH 5,600
od&aEn 1,900,000& * 1CH 1,900
otz sxa =4 1,400,000& = 2CH 2,800
ORIIsHA 8&2eE Zl 23,540
OsEHM=0I 18,700,000& * 10H 18,700
O &=l 4,840,000  1CH 4,840
FHsgAAHI=H 1,863,701 4,285,529 A2,421,828
ASANEEXH 1,863,701 2,908,029 A 1,044,328
401 Al HI & 28I 1,863,701 2,908,029 A 1,044,328
01 A& Bl 1,863,701 2,908,029 A 1,044,328
OFUsAAILI EXNBAS(2XE) 1,863,701
OEXEaZ 471,197& = 3,699m’ 1,742,958
O2HE 4l 100,000, 000& 100,000
OZ=E=aE43 4,256 « 3,699m 15,743
OSJI+42 2 2HEIIR
2,500,000 = 2E X 5,000
HE2IZH (sYI=dE AR 90,588 80,838 9,750
JlE3l 90,588 80,838 9,750
JI23l 90,588 80,838 9,750
201 L2l 31,320 26,628 4,692
01 At 22l 31,320 26,628 4,692
oJllggesdas 2 (&2 )
500,000& * 269 = 95% 12,350
O=&HI(J1E&Hl)
8,000& » 269 = 8 = 12& » 95% 18,970
202 Od4dl 53,568 47,520 6,048
01 = LH o4 1 12,768 11,520 1,248
O=3UadablI(2IEZHl)
20,000& * 798 = 8 « 12& » 95% 12,768
02 M0 40,800 36,000 4,800
OZUWHI(HFIHL D)
200,000& = 128 » 123 28,800
OBUNHHI(SHAE D)
200,000& = 5H » 123 12,000
203 PR =&l 5,700 6,690 A 990
04 EAN2IHR2F=EHI 5,700 5,460 240
OJ| &M (45Y) 475,000& = 12& 5,700




—— A
N = 0] &F AF S & AN A
20208 = 20l A 2B H sEIl=dE XNJIIE ~ sgI=4dE SAsg2
SN S2IsHEH TASSY
HH: TAsgES
o9l TASYSY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Ssg)|s=HEH TAsE2 2,988,058 2,158,318 829,740
= 263,200
= 22,500
Al 2,702,358
TANsgE=EY 2,933,701 2,098,926 834,775
= 263,200
o= 22,500
Al 2,648,001
CAsgsd 2,933,701 2,098,926 834,775
= 263,200
= 22,500
Al 2,648,001
SEIXE M) =X 200,000 0 200,000
2 100,000
Al 100,000
402 SI2FXHE0| ™ 200,000 0 200,000
= 100,000
Al 100,000
02 QX2 A E X (0| XM THSH) 200,000 0 200,000
OSH2BNY 4S5 29 25
200,000,000 = 10 A 200,000
= 100,000
Al 100,000
MIIsAY 160,000 0 160,000
= 80,000
Al 80,000
307 QI2t0| ™ 90,000 0 90,000
= 45,000
Al 45,000
02 QI2tAAMAIE E =X 90,000 0 90,000
ORNES M2 28 TAN=sY AlY
50,000,000& * 1JH 2 50,000
= 25,000
Al 25,000
OAlg g2 g A2 . 20A X4 Jls A"
10,000,000 = 404 A~ 40,000
= 20,000
Al 20,000
402 SI2FXHE0| ™ 70,000 0 70,000
= 35,000
Al 35,000
02 QX2 A E X (0| X THSH) 70,000 0 70,000
OXssgs4d MY 70,000,000 * 1JH A 70,000
= 35,000
Al 35,000
Hs2IESH XA 54,000 54,000 0
= 16,200




AN sIIsdH SAsES
Hu: CASUSY
€ SAsYEY cf
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 37,800
201 L4 4,000 4,000
= 1,200
Al 2,800
01 At 2t 2l 4,000 4,000 0
OHM=EY 43 A W=
4,000,000& = 13l 4,000
= 1,200
Al 2,800
402 RI2EA=20| A 50,000 50,000 0
= 15,000
Al 35,000
02 QI EAIL B (01T ) 50,000 50,000 0
OF=&Y 43 XIF  10,000,000& * 54 & 50,000
2 15,000
Al 35,000
A=l JIxgs)isusid 31,000 35,000 A 4,000
= 15,500
Al 15,500
201 2er2 Y| 25,000 27,560 A2,560
=2 12,500
Al 12,500
01 At 22l 25,000 27,560 A 2,560
Otsel HEFAIED] DT
40,000& » 80% 3,200
= 1,600
Al 1,600
Otisge dsFAlsus A= 18,500
Ogttis 5,900
SJl= 230,0008 * TAIZH * 53] 2Dt E 2,300
= 1,150
Al 1,150
-=0t 120,000& = 3AIZt = 53] * 21+ &H 3,600
= 1,800
Al 1,800
Ogees 12,600
-JI& 120,000& = 1AIZ2t = 153 * 21+ &H 3,600
= 1,800
Al 1,800
-=J} 100,000& = 3Al2t * 153 » 21+ & 9,000
= 4,500
Al 4,500
OtlA=gde Isd3I)sus HBUUE
500,000& = 63l 3,000
= 1,500
Al 1,500




2N
X ZH -
L= B

el
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SI=dEH SAsYS
CAsgEsd

CANsE=EY

. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OAHsZ0 S=H)20E 28 A0E ¢
el 30,0008 = 10= 300
2 150
Al 150
206 M = Hl 2,800 3,600 A 800
2 1,400
Al 1,400
01 X2 H| 2,800 3,600 A 800
ONREAY AEEIAI NS 29 WY
35,000 * 40Y » 2N 2,800
2 1,400
Al 1,400
301 et A= 3,200 3,840 A 640
= 1,600
Al 1,600
09 SHAIAHI X & 2 3,200 3,840 A 640
OMRSYO A SNE 2% SARH
8,0008 * 40¥Y * 53| ~ 2t A 3,200
= 1,600
Al 1,600
MARsgol 8 ASuUsAE 60,000 60,000 0
= 30,000
Al 30,000
301 et A= 60,000 60,000 0
= 30,000
Al 30,000
12 JIEtE A2 60,000 60,000 0
OMREYL HEE)} HENSTS LA
1,200,000& = 58 » 100 60,000
= 30,000
Al 30,000
sgolfs 249 X3 35,000 36,000 A 1,000
= 17,500
Al 17,500
201 Yt | 29,600 30,600 A1,000
2 14,800
Al 14,800
01 AP 2t 2| H| 29,600 30,600 A 1,000
O=sgolls 249 29,600
Osgoltis 2% sxAs HFUM2
500,000 = 83| 4,000
= 2,000
Al 2,000
Osgoiise 29 sl 2¢
100,000 * 805 8,000
= 4,000
Al 4,000
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AN SEISHE SAsEH
g TAsgsd

el TAsEsY

SA - ZE-B(EA) - NRAY - B S il &t o il
Osgonts 28 208 ¢
3,710,000& * 2t&H 7,420
- 3,710
Al 3,710
Osgeols 28 A=Y 10,180
-2EHg 4,720
Jle 230,000& = 1AI2t = 83 1,840
= 920
Al 920
- =0t 120,000& * 3Al2F * 83l 2,880
= 1,440
Al 1,440
-2eteg 5,460
- Jl= 120,000& = 1Al 2t » 133 1,560
= 780
Al 780
- =0t 100,000& = 3AI2+ = 133l 3,900
= 1,950
Al 1,950
206 M= Hl 3,000 3,000
= 1,500
Al 1,500
01 M= tl 3,000 3,000
Osgeltist 29 M=l
15,0003 = 509 « 43| 3,000
= 1,500
Al 1,500
301 LEEAS 2,400 2,400
= 1,200
Al 1,200
09 HALAHIX &S 2,400 2,400
OsYoris 2% FADLY
8,000& = 150H * 23| 2,400
= 1,200
Al 1,200
228 =00 KNP AN B4 8,000 8,000
= 4,000
Al 4,000
201 L2l 5,520 5,520
= 2,760
Al 2,760
01 At 22l 5,520 5,520
OZE=SE=sYUHIISL AR
500,000& =« 4CH 2,000
= 1,000
Al 1,000
OS=L=sUHFsIEd 82 A
40,000& ~ 80K 320




AN sEIsHE SAsY
M CA=sgs4d

el

Sl CASARY (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
= T60
Al 160
OESY SIS 4 A= (23) 3,200
[OPIE= 120,000 = 1Al2F = 103 1,200
2 600
Al 600
O=x=1t 100,000 = 2Al2F = 103 2,000
= 1,000
Al 1,000
206 M = dl 1,200 1,200 0
= 600
Al 600
01 X2 bl 1,200 1,200 0
CEECECHEEEEV TS
15,000& = 40¥ «* 23| 1,200
= 600
Al 600
301 dEtE M= 1,280 1,280 0
= 640
Al 640
09 #HAIAHIXI& 2 1,280 1,280 0
OE=S=godHIg & N AW
8,000& * 40¥H x 43| 1,280
= 640
Al 640
SEMEEEEG MIzsE2 66,000 30,000 36,000
& 19,800
Al 46,200
201 2Et24A Y| 30,000 30,000 0
& 9,000
Al 21,000
03 A2 A H| 30,000 30,000 0
OX< 2= &2 SSEAES AEY
30,000,000 30,000
& 9,000
Al 21,000
307 giztol A 15,000 0 15,000
& 4,500
Al 10,500
02 QI2tAAMAIE E =X 15,000 0 15,000
OsZEl=sd 435 N
15,000,000 * 1JH A 15,000
& 4,500
Al 10,500
402 SI2vXHE0| & 21,000 0 21,000
& 6,300
Al 14,700
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el
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sIl=de SAsY

CANsE=EY

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 QI EASEZ (OIS ) 21,000 0 21,000
O=sZE=E3 HMEsd 84
30,000,000& = 104 = 70% 21,000
< 6,300
Al 14,700
MII=2 = At &t 9,000 9,000 0
= 2,700
Al 6,300
201 L2l 3,200 3,300 A 100
= 960
Al 2,240
01 At 2t 2/l 3,200 3,300 A 100
OMERN T2 28 ZA=Y 3,200
Ogees 120,000& * 202/ 2,400
< 720
Al 1,680
OB XA 40,000& * 202 800
< 240
Al 560
206 M= Hl 5,800 5,700 100
< 1,740
Al 4,060
01 =8l 5,800 5,700 100
OMERN Z20d8 23 M=t
290,000& * 203l 5,800
< 1,740
Al 4,060
TA=sg X2HH 283,003 367,907 A 84,904
101 124 dl 48,832 21,885 26,947
04 D12t Z2XREES 48,832 21,885 26,947
OZNS&EA UM JIZHI2EI(DEXHE) 22,467
ool 76,7603 * 1H * 262 « 103 19,958
OZEFOtHI 200,000& = 23| 400
o4 2= 2,109
-HYEEE 19,958,000& * 3.23% 645
-HIIRSBEE 645,000& = 8.51% 55
=03 19,958,000& * 4.5% 899
-IEEE 19,958,000& * 1.5% 300
-MHEH 19,958,000& * 1.05% 210
OFArZe EE§AHZZI 26,365
ool 74,400 * 1" » 262 123 23,213
OZEFOtHI 200,000& * 23 400
O=XNEQUE 300,000& = 1H 300
C42E= 2,452




AN sEIsHE SASE2
M CA=sgs4d

Eel SA=sgEs4H (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-HYEE = 23,213,000& * 3.23% 750
B3I RISBES 750,000& = 8.51% 64
=03 23,213,000& * 4.5% 1,045
-IEEE 23,213,000& * 1.5% 349
-MHEH 23,213,000& * 1.05% 244
201 L2l 131,415 219,022 A 87,607
01 At 22l 40,736 127,700 A 86,964
OEAN=sgRAES = 5,700
OJl= 100,000& = 10H = 63 *» 95% 5,700
O=gol AeA2Y AIR22I
100,000 » 504 + 128 » 95% 5,700
OEAN=sY XNJHH F)| e
50,0003 = 5CH = 128 = 95% 2,850
OZANsg& MER=ER 1,254
Os¢X 15,0008 = 3& * 128 * 95% 513
OX X 13,0008 = 58 * 128 * 95% 741
Ox==2 & 0IsAZRA dExxE
180,000& = 12& » 95% 2,052
O A= MIGMEY 22 (02 =,300k
W) 250,000& = 128 = 95% 2,850
OZANsH2 ALt BL =8
250,000& = 12& = 95% 2,850
OZAN=sg2 TAsd 82X
10,000& = 3008 * 95% 2,850
OZANsH2 EE2E st =3+
30,000& = 10090 = 95% 2,850
OEANsg2 NEZAY =Rl
8,000& = 1008 = 95% 760
O A= F2 JRI e LA (22) 7,980
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OZANsg2 MRS 36,262
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ANHZ=ZHS =AY 2,000 2,000 0
O A=Y R=&H 2,000,000& 2,000
M= dl 46,000 56,000 210,000
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SANsg s 29 N3 138,459 0 138,459
101 e1214| 16,006 0 16,006
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=
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500,000& * 253 * 95% 11,875
OWE Y MNREE 2¢
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OdsusE 2AX0H M
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OF0Ite EAsY s ZA+E 4,335
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206 M = bl 46,000 0 46,000
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35,000& = 1005 = 95% 3,325
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